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Geometry of LAr with foil

Middle part of LAr without split

Middle part of LAr divided into 64 cell (phi-Z, 8x8)
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Cell visualization
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Distribution of total deposited energy

(mother volume #0)
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Distribution of total deposited energy

(mother volume #0)
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Cell visualization
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Distribution of total deposited energy

(mother volume #1)
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Distribution of total deposited energy

(mother volume #1)
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Distribution of total deposited energy

(mother volume #2)
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Distribution of total deposited energy

(mother volume #2)
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Cell visualization

on the next slide shows of the distribution of the total deposited energy
in these cells
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Distribution of total deposited energy

(mother volume #3)
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Distribution of total deposited energy

(mother volume #3)
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Cell visualization

on the next slide shows of the distribution of the total deposited energy
in these cells
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Distribution of total deposited energy

(mother volume #4)
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Distribution of total deposited energy

(mother volume #4)
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Cell visualization

on the next slide shows of the distribution of the total deposited energy
in these cells g
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Distribution of total deposited energy

(mother volume #5)

cell0 cell 1
F - h40 700— _ h41
I Entries 978 w ~ Entries 1577
N Mean 0.7813 o Mean 0.7231
o = Std Dev 0.3662 S 600 — Std Dev 0.3459
S 350— g °C
c [= L
(3] = 500—
300— C
250 — 400—
200:— 300}
150/— =
= 200—
100— :
- 100—
50— C
oI T e et R R RS LR T TS oy ‘ T Ll Ll
0 0.5 1 15 2 25 3 35 4 0 25 3 35 4
cell 2 EtOt_deP' MeV Etot_dep’ MeV
cell 3
= i h43
= E i h42 880 800 — Entries 1831
F ntries 0 [ M 0.7896
2 800 - Mean 0.7266 . - St(;ag 0.4339
i 700— ev !
- - Std Dev 0.3553 = -
5 700— 3 o
C = =
o = 600/—
600— =
= 500/—
500— E
= 400—
400/— =
300— 300;
200— 200;
100— 100?
E. e g s B R . oo
% 05 1 15 ; 0
Etot_dep’ MeV

07/11/22




Distribution of total deposited energy

(mother volume #5)
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Cell visualization

on the next slide shows of the distribution of the total deposited energy
in these cells g
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Distribution of total deposited energy

(mother volume #6)
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Distribution of total deposited energy

(mother volume #6)
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Cell visualization

on the next slide shows of the distribution of the total deposited energy
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Distribution of total deposited energy

(mother volume #7)
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Distribution of total deposited energy

(mother volume #7)
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